N = 0l & At & M A

0178 S04 nSAMISEINH X
A REWEDY
A Hsus g4 XA
S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
wEHFH M 7,413,183 5,176,085 2,237,098
< 150,000
Al 7,263,183
thsns 84 N 6,938,412 4,685,939 2,252,473
< 150,000
Al 6,788,412
LS Mbla e (RSMESESIA) 5,163,511 2,935,908 2,227,603
< 150,000
Al 5,013,511
NsEREMAHTS) *5 943,171 911,307 31,864
201 Let24E] 688,971 697,407 A 8,436
01 At 22l 6,800 6,800 0
O1 eet=ZHl 1,200
DUSHEHH 2IH(EH € AREE572E
) 100,000& * 122 1,200
O3 2g=¢ 5,600
PRELSEI MOSIRE 2Py
100, 000& »7Q1 x83] 5,600
02 2324l 682,171 690,607 A 8,436
O1 3322 € HA 374,580
DEEIIERSB 374,580
OuNsSEEHH R 28,500,000& «12& 342,000
OBIS(XtZorll &2Dl)
15,000& = 181CH 122 32,580
O3 Al ZHl s Xt 307,591
PuUSEENEH 22 ¥ |A2c
285,000,000 =14l 285,000
DUSZEEMEH MM FAE
189,449,000& *8/100 15,156
> ITSEHOIX |RAZ==
49,562,800& *15/100 7,435
202 Od4dl 2,400 2,400 0
01 = LH o4 1 2,400 2,400 0
OunsgedEl & wsSAlAE Hd Ol
200,000& »12& 2,400
401 Al HIZ 201 Y] 251,800 191,500 60,300
01 A& HI 250,000 190,000 60,000
OITS 28 SXNE=+ 100,000, 000& * 14! 100,000
OHAEBZAIAE(BIS) &S A
150,000, 000& 14! 150,000
03 A& =TI 1,800 1,500 300
OAIZ 2 HHI 250,000,000& *0.72/100 1,800
WSAMAILE £X & Hl 2,241,706 1,616,626 625,080




Py
g 54 N&
S MHlA HE(REAMY

Jm

=]
=2

ton
x

BB - S (31) - MRAY - BES Ol &t o San HmEET
2 et | 191,939 185,926 6,013
=323l 191,939 185,926 6,013
O1 83322 ¢ HA 168,723
PHEIIRS 20,0003 70000 2= =128 168,000
PASUHEEZE 500,000 = 1CH 500
DS IHA (24 E)
70,000% =1CH =131 ¥90/ 100 63
DEIMNERES 70,0003 »1CH *23] 140
>DASHE AR 20,000& x13] 20
O3 A&l Xl 19,800
Delss - HES AEEZH
55,0003 *360H 2 19,800
O4 xt& - det] 3,416
DIEsXH(E4E) 3,416,000 = 1CH 3,416
M= 8l 125,000 110,000 15,000
01 MHZ 4l 125,000 110,000 15,000
OFIIANLES(LEDANESII? 2 148)
500,000& x15& =104 75,000
OQUEHNMAIEES 22 M (LIS EALX 2 4
E) 1,000,000& 53 x 104 50,000
ALtE A S 2,000 2,000 0
JIEtEA S 2,000 2,000 0
OULSAIEE &1 AT A1 Za3
10,000& »2002! 2,000
401 Al B2 28I 1,922,767 1,318,700 604,067
01 A& HI 1,913,000 1,314,700 598,300
OUSCHEAIES X & HUI(SIHA)
500,000 *3000H 2 150,000
OusStlss ¢t&e & B
60,000,000 * 1004 2 600,000
OuSASSHOHI 24 (HIAH)
300,000 *3500H 2~ 105,000
Ousdss B4 (SHIHAHY)
360,000 *3500H 2 126,000
OQusSdsuxz MAML(XH, BEH, 23l
MR Z2) 100,000,000& 7 H 2 700,000
OAZ M E SSaSI| El
850,000 *70H 2 59,500
Ok WSS HAHI WH
5,500,000 » 1504 2 82,500
ONESES(AHMS)EHI(SIHA)
90,000,000 » 14l 90,000
03 A& =2 THHI 9,767 4,000 5,767
OAIZ 24l 2,713,000,000& *0.36/100 9,767




nSHY
HEDS 84 X2
Hsuws MHA N (RSMESESH) (&)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
ol g1 gl 322,154 327,275 Ab, 121
801 oilbldl 322,154 327,275 AL, 121
01 &Btoiglsl 322,154 327,275 A5, 121
OulBlbl 322,154,000& » 14| 322,154
HelolEs+4 =2+ 151,080 80,700 70,380
401 AIEHIZ 2 CHHI 151,080 80,700 70,380
01 Al£HI 150,000 80,000 70,000
Oolglol2s 79 |2
5,000,000 *209H 2= 100,000
Oolglol2s 39 CCTV |2+
3,125,000 169K 2= 50,000
03 AlE 2 THHI 1,080 700 380
OA&20bI 150,000,000& *0.72/100 1,080
MuxzZ &xl 1,505,400 0 1,505,400
= 150,000
Al 1,355,400
401 AIEHIZ S CHYI 1,505,400 0 1,505,400
= 150,000
Al 1,355,400
01 Al&HI 1,500,000 0 1,500,000
O=lduxz &I 150,000,000& *109H £ 1,500,000
= 150,000
Al 1,350,000
03 AlE 2 THHI 5,400 0 5,400
OAN&20bI 1,500,000, 000& *0.36/100 5,400
Sod oA s (WSAMLSEEA) 151,800 211,000 A 59,200
Olglol nstdus F4 56,000 50,000 6,000
307 glztol & 56,000 50,000 6,000
05 I2tRIE = 56,000 50,000 6,000
O0elolnsSsd 2I2t2(& 56,000,000 * 14! 56,000
nSHMALYE 29 85,800 130,800 245,000
201 2Bt2 Yl 39,000 34,000 5,000
01 Al 221 39,000 34,000 5,000
O1 &et=ZHl 37,000
PLUSALD 2017 28 30,000, 0003 14 30,000
PEFIY 243 g8 5,000, 000& =14 5,000
DEAXNZ0 5= 7Y
2,000,000& =14 2,000
o3 2g8=+¢ 2,000
PusSHdyoRAAG 2E+E
100,000& x 1021 %23 2,000




sSdI N

Sus |4 X
=0t A 5
SRUSS!

- _ _ RE]

NS - o9 (3H) - MEAY - B %Eﬁ HR=2
202 o4 | 6,000 0 6,000
01 2L I 6,000 0 6,000

OnNsSotMAY & 2HH OO =& 4|
500,000& x12& 6,000
301 Bt A= 5,800 11,800 A 6,000
09 HAIAHI EAZ 5,800 11,800 A 6,000
OUEMUN HERYE s BAE A
1,000, 000& = 14! 1,000
OB&XI&0ol &=l 10,000& x200Q! x2 x 12 4,800
307 giztol A 35,000 45,000 A 10,000
02 QIZ2IA AAIE E X 35,000 45,000 A 10,000
OuUuSAMIE0I ¥ WsSotd g4 X&A
20,000,000 x 1Al 20,000
ONelol sSAtD HgeEs &sdl K&
15,000,000 =1 Al 15,000

glolnsS23 & 10,000 30,200 N 20,200
201 LBt 10,000 10,000 0
02 2224 H| 10,000 10,000 0

O3 A& &HI KX HI 10,000
DHEOIWSZ2E AlE A2
10,000,000 » 1Al 10,000
I 2 (DEAMNASELHSH) 1,623,101 1,539,031 84,070

X 2X EXE A 50,360 22,200 28,160
401 AlEHIZL 2 0HY| 50,360 22,200 28,160
01 Al&H| 50,000 22,000 28,000

O=F8x 279 & AQXNSY EXT &X
50,000,000 x 14! 50,000
03 AlE 21| 360 200 160
OAEE0Hd] 50,000,000 *0.72/100 360

& =X ) BXZ2 X 30,000 20,000 10,000
402 SI2FXHE0| & 30,000 20,000 10,000
01 QI E AN EXR (NI ) 30,000 20,000 10,000

OWWEF=XE D] A XI&
2,000,000& 15201 3 30,000

9 OF=AEX S 867,348 919, 133 N51,785
201 gEt24Ay| 542,048 486, 133 55,915
01 AP 22| d| 48,535 57,175 A 8,640

O1 bt==H| 27,655
DE2HFAEX} SE2E M2 9,755

OCE=AEH(UEH2EW L AQIHAXIE)
250 3, 0000H 750




no 3
Kio o
El %S}
E=
3
LH 31 o
wikd 8
RIS
o o [Te) o
[ee] o al S o o o o
n o — o O o O O
o © 0 Q< AO.H m 28 38 m S @ K S ©® 83388 8
oo NS ! ©® © = N5 L YRS 8 2L IY xS g
- = 0 - - = S ' hHh 2 8888 IR I ETRER S 2258 353 8
a 2 288 5E 3K o = o S§88838»3%38 8 8
2 25L& 2™ S & B ® B N = = I S 3
s 3 o) ~
S [V
555 4 Ix =
S 6 o — — < <r o — 13 — = _
S & & — - 2 ol ol ™ o ol £
888wy xrx § mggYLe = 7 —
o s 52 0% EEs: i A T mE® BEEEC ®™B 888
X0 y 2 & S S 8 0 uW_ R QW o <k |*=_ ¥ X % v e X ? % o 2 L2 < 5
) 3ignws SS8HF =88 8§ Bl & SEE s 502 ¥B G 553 = 9
| o = S o g S 3 S S o) W s s « U s o 4 8 8 8 ]
8 S S 8 8 * ~ S e W e 2 1] m e 8 % Irs) ? S 8 < > @ N o
" . o S S 2 8RR 5K oJ ) | ¥ o oY > ~ o ™o oL =
ol w2 WS T2 o & 8 B P8 a3 L PR s <
< R0 iy 0 = ar 3 ™ T @ X S S mw < ) m = = = S =)
- o0 = Al ~N of =z < o o S o <9 o o 2 2R 48 3
I+ o ar = ol = o » o I S © S 5 Yy S )
= D ul S 3 IR g S S 9 o o o < ¥
X o 4 n Y = -3 - @ < S o ® ® w o =
. Lo 4w o) ) ol v © £8 888 a2 =
- T T u 0o o of 0k il 1T o S 8 S 5] =
= B oUW oY 4 & _T W 5 0oy o Ssg RO
- W ow ¥ = = ok o 4 = & z © Y LS9
= T W R R R - W = PR S ok
S krzznm w wo - = Bk A My A= Uy o 5w 2
5 [Roa & = 3 i - - Uigmo® 8L 5y 2w =
. M~ o) ® 1 3 3 % = oW oW ow kDK - o o = = oo o ™ A H ook Au W0 @ B Ok 0 i
& O 0 oM T LT =T W D) [0 # w0 B 5 M @ _.1__1O DMK SRR KRR SG = Ko Ko Ko D 4r o
X A A A © o0 oo oOTMmMWH o %wﬁa@&%gogrﬁ__m_xgo__gATmoa 7
RO < A K H0 Ok O | - R ORO%0 W <o b ,
) ) o A M o— A @) CD W o oRRRKLHK o o K 0 ur M|E ol =)
z © H O o NRVNRVNEN Rooo=x0 #
N m A A
ij o O




A REWEDY
A Hsus g4 XA
©el: =FA 2el(LSMSEESH) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
SO ALE SAES
30,000,000& =14l 30,000
DACIAIR A CCTV RAES
1,800, 000& 14 1,800
DEIFXE CCTV S XNE=
2,500,000 »24! 5,000
> &= PDA RAE S 4,500,000& 14 4,500
DIOgH RAUH(BEFIUNHS XM S
£4) 12,000, 000& 14! 12,000
O4 Xtg. o8| 37,755
> X &= Xl 37,755
[OR=3=0X; 6,867,000 =4CH 27,468
[OR=3-1PX; 3,993,000 = 1CH 3,993
O A2 Xt 3,147,000& 2CH 6,294
202 O4Hl 24,000 24,000 0
01 S LHOIYI 24,000 24,000 0
Os8Y=ZX &= 2,000,000&+12& 24,000
207 A O] 3,000 0 3,000
01 289 3,000 0 3,000
OTYFAY UAASLUYE NI} 24 8
== 3,000,000& =14 3,000
301 gt d= 1,500 1,500 0
09 SALAHIEA S 1,500 1,500 0
OEY=ZX = XMEHA 10,000& = 150¢! 1,500
305 a2 S 10,000 10,000 0
01 HH&aZSE 10,000 10,000 0
QU ACI X=Xt 2l &HH & 400,000& #2504 10,000
401 AIEBI L 20HEI 251,800 307,500 A55,700
01 A& tl 250,000 306,000 256,000
OSYHFIX Rthx CCTV X (1F4)
25,000,000 *109H £ 250,000
03 Al 2 0HHI 1,800 1,500 300
OAIE =TI 250,000,000& *0.72/100 1,800
405 RHoHE S HI 35,000 90,000 A 55,000
01 AL EZFH S 35,000 90,000 A 55,000
OS8=3x &4=xg £ 35,000,000 «1CH 35,000
SS=IE =4 382,736 381,500 1,236
401 A& HIZ 201 8] 382,736 381,500 1,236
01 A& HI 380,000 380,000 0
SN SE=INE ZE IA
300,000,000 » 14l 300,000




2N DEHHY
HH: snE 4 AL
S FEX el (WSANLSELEAH) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O2YFXE ANERINES 80,000,000 14! 80,000
03 Al 201 Y] 2,736 1,500 1,236
OAl& 20| 380,000,000& x0.72/100 2,736
NEHE MYXdE 292,657 196, 198 96,459
101 2124 4| 55,569 51,237 4,332
04 JIZtHIZ22NHEE 55,569 51,237 4,332
OLEAMNIELEBH HEH Ex 55,569
>IlE23 51,800& x201 %247 25,590
> a2 25,590,000 /128 43| 8,530
>DFEEsY 51,800& 221 x53 5,491
DA 51,800& x2Q1x 12 1,244
> &M ZAlH| 130, 000& 221 x12& 3,120
D> uWE 2 x| 120,000& *2021 x12& 2,880
>EAZ 46,855,000& /12& 3,905
>=0AH= 46,855,000& *4.5/100 2,109
>PALEEH 46,855,0002 *3.06/100 1,434
DEIINALEH 1,434,000& *6.55/100 94
>PINESE 46,855,000 x1.5/100 703
DAMTEE 46,855,000 *1/100 469
201 LEr2 Y| 224,528 137,761 86,767
01 AR 22l ] 41,160 35,320 5,840
O1 etx=2H| 40,000
DASAZE BEHE SE&E L AYE XA
60-& *306, 0000H 18,360
DHSE AX AL g2 ADEH (G X EH
2 HX2 Z2HEK) 1,000, 000& * 1A 1,000
DEIUZ2LE =5 13,640
odxEsdBoEE 2,640,000& * 14! 2,640
O&MXLFZIAHIA 440& 25,0002 11,000
DASA2E WEHZ IIAHE 29222
80& x4 0004 x12& 3,840
DASA2E WEHES AMEIE LS 2,160
OsUEY))
6,000,000 *3/100% 100 A~ x12& 2,160
DASA2E MBElE MEX HALBRSI| %=
== 1,000& 1,000 1,000
O4 Il =4| 1,160
PHSEHAXNQA (o=, &E=&HH, s S) 1,160
oadt= 100, 000& 401 400
O&FEFS 70,000& *401 280
O 3t 50,000& =401 200
o gst=s 70,000& %40l 280




A

O & XN&
Sl R AA(RSALSHIH) (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
02 3524l 183,368 102,441 80,927
O1 2222 % HA 173,081
DREQRZ(MEE DA sL2) 169,800
0 &I 1,930& x5,00000 128 115,800
O gt 300& x15,00000 = 12& 54,000
DASIM ¥ E88 S 3,125
OXNSIM(EEEH)
250,000 = 1CH =131 *90/100 225
OB&E= 500,000& *13| 500
OsSUE(POAAIERZ 200,000& x12& 2,400
DILEMIAI AMEE 156
OsSMAMEZ 13,000& x12& 156
O3 A& &Hl s Xl 3,420
DHSTEX NHEMAAE RS
285,000& x12& 3,420
O4 It e 6,867
DASRANE(EEEEY) 6,867,000 = 1CH 6,867
202 04| 10,560 7,200 3,360
01 2LHOHI 10,560 7,200 3,360
OXNsxtad MY MElg 04|
880,000& x12& 10,560
305 HHAa=2S 2,000 0 2,000
01 HiMN=SS 2,000 0 2,000
OgX X Hs T £2|H| 100,000& *20CH 2,000
HESAAL (WSHY W) 474,771 490, 146 AN 15,375
ClHESAH(NEHFH W) (WEASEELIA) 395,935 401,558 N5,623
Ol A (NS A ) 395,935 401,558 N5,623
101 @121l 395,935 401,558 N5,623
03 I HL22 NHE 395,935 401,558 N5,623
OslgdEAI (1022 JI=) 230,864
>IlE23 1,380,230 x721x12& 115,940
> a3 115,940,000& *4/12 38,647
D>AIZIRIZ2RE 9,910& *7Q1x35A| 2t x 128 29,136
DEUIRLE 79,6302 x721x12! 6,689
> A X E 39,566& x721x12 3,324
> &M Z A 130,000& x721 x12& 10,920
MR-y ul 120,000& x721 x12& 10,080
>E&0 10,000& *791 %10 12& 8,400
> H<LIH& I 193, 182,000& *4/100 7,728
OddBZA (9 JIE) 87,264
>II=23 1,277, 7403 x321 x12& 45,999




ro o2 K

sSdI N
F2EZ(nsddE )
H2AH(NSHFN) (LSALSLESINH)

SN HH-S(BN) - MBAY - B il HlnE2
RO 45,999,000% *4/12 15,333
DAIIZ 2 9,262 x321 x20A| 2+x 123 6,669
A =] 74,4533 x301%12 2,681
> AX=E 36,9953 x301%10 1,110
D> & Mz AlH| 130,000& x321x12& 4,680
>us2 L 120,000& «321 12 4,320
DEZNUI(EYF=ZI L H)
10,0003 #3210« 128 3,600
PSP Pl 71,791,000& *4/100 2,872
o=z 2E3 297,493,000& *4.5/100 13,388
OHLEE= 297,493,000% *3.035/100 9,029
OINRLYBE S 9,029,000& *6.55/100 592
Ons:sEgsz 297,493,000& *1.5/100 4,463
OdMEE= 297,493,000& *1.0/100 2,975
QU SH (BYFE =) 3,360
>ot= 100, 000& 72! 700
>=s= 140,000& 79! 980
DEZFS 70,000& x7¢l 490
> &St 50,000 »7Q1 x23] 700
D> gshs 70,000& x7¢l 490
OE&z 2E3 44,000,000 14! 44,000
Z2H(REALEESIA) 78,836 88,588 AN9,752
=2d (S8 ) 78,836 88,588 N9Q,752
201 L2l 47,976 52,008 N4,032
01 At 22l 47,976 52,008 AN4,032
O1 get==EH| 39,240
DEM2IESSHI(SASI 2 108)
2,500,000& x12& 30,000
DEAD Y ZEH EH.EY
300,000& »15CH *23] 9,000
Dunsatd HHEE 30,0002 +8A 240
O5 &l 8,736
DOt 5222 7,000 2601 x43| x 128 8,736
202 Oddl 19,200 24,000 A 4,800
01 S LHAYI 19,200 24,000 A 4,800
OJlgge=8d ol 1,600,000& »12& 19,200
203 YR =2l 4,740 4,680 60
04 BH2AAR =T 4,740 4,680 60
ORNSLALEXYI(3921)  395,0008 +128 4,740
405 THebH S| 6,920 7,900 A 980
01 AL =2 S FH S| 6,920 7,900 A 980




(S|
g 0x o
0 Ho 0%

S

02 02
=]

o

[=s
> K
12 o
Jm o2
g 0x
for k4

=
EJ
O
=

= - — SHE]|
SN HH-S(BN) - MBAY - B e
OPC(2Hl) 1,000, 000& *5CH 5,000
OPC(2LIH) 300, 000& =4CH 1,200
[@2=IDN; 180, 0002 *4 4

720




Al O] &F Al M
20178 & =204 NSAISSESIAH A
S E=SmE=nl;
H: H=zus 4 X3
©el: Hsus MHlA HE(LSMEEESIH) cet )
(o
SA - BB B () - MM - BES e =F)
mi-—=n; 2,838,237 2,338,456 499,781
Sus 4 N& 2,716,670 2,338,456 378,214
HsLsS Mbla e (RSMSSESIA) 2,668,601 2,300,517 368,084
tH=sws AMblA JHed XI& 63,200 158,200 A 95,000
201 L2l 35,000 60,000 A 25,000
01 At 22l 30,000 35,000 A5,000
O1 eet=ZHl 30,000
PHALS OHE & =F gl
,000,000& *14 10,000
HMALS HB L ZF HSTHE
20,000,000& =14 20,000
02 =224l 5,000 25,000 A 20,000
O3 A& ZHls Xl 5,000
DESC XML A2+
5,000,000& » 14l 5,000
202 oddl 7,200 7,200 0
01 = LH o4 4l 7,200 7,200 0
OUENE MUIAMA At HE 0l
600,000& »12& 7,200
207 A RO & H| 21,000 90,000 A 69,000
01 289 21,000 90,000 A 69,000
OAlUitHA 2E0 24 8
1,000, 000& 14! 21,000
ALY MHIA S K& 14,300 14,200 100
201 LB-2gH| 1,100 1,000 100
01 At 22l 1,100 1,000 100
O1 g2t 1,100
PusS=2sed 23 SEZH MH
55,000& 204 1,100
202 oddl 7,200 7,200 0
01 = LH o4 1l 7,200 7,200 0
OMBEXE eIt & MHIAMNS MY EE
04 bl 600,000& »12& 7,200
301 LBtE A= 6,000 6,000 0
09 HALAHIE& S 6,000 6,000 0
ONSIsLd RZ T HdAX AS
50,000 2421 %13 6,000
ERAl 22X 24 At 5,000 5,000 0
201 LB-2E| 5,000 5,000 0
01 At 2t 2l 5,000 5,000 0
O3 2g=¢ 5,000




2N HESLSH
M swE 4 N2

S HEWUE NMHIA HE(DSMAEHSH) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
EENEFEEEREEE:
100, 000& *521x103] 5,000
BHAl SHHBAUALIAIALY ASAIY (212 EXE) 97,000 0 97,000
308 AXISHXSO0IH 97,000 0 97,000

10 I 2S00 &t

oy
0z
Ja
2
0
=

]| 97,000 0 97,000

97,000,000& * 14! 97,000
S22 AL 2 B 802,480 701,480 101,000
201 L Er2A | 150,480 150,480 0
02 3222l 160,480 160,480 0
O3 A& & Hl |Xibl 150,480
DS BRI (HA L EHAl)
19,0003 6604 A~ 128 150,480
401 AIEHIZ 2 I 652,000 551,000 101,000
01 A& HI 648,000 548,000 100,000
OasZd &4 & uH 500,000
DII2d (ool & SIREXRl)
10,000, 000& *407H 2 400,000
DHASZE EXE 2 RAX(SItA)
1,000,000 *50H 2~ 50,000
PHASZE RANE+ 50,000,000& » 14| 50,000
OANUHA FIE OIFE FHI(SIHA) 148,000
DRI 300,000& » 1204 2~ 36,000
>R 120,000 » 1004 &~ 12,000
DEHAISZE ME L STUES(3HA)
100,000, 000& 14! 100,000
03 Al S THHI 4,000 3,000 1,000
OA&E=Tbl 4,000,000 =14 4,000
EHYE EHAIALY X 649,921 344,537 305,384
307 glztol & 649,921 344,537 305,384
02 (It HAMAEE 388,715 344,537 44,178
OBH#MEMGIEZ MOl &X1) &8Al S¢g
388,715,000& » 14| 388,715
03 QZHHEE2IHEX 261,206 0 261,206
OEHEEA SHH 28 X
261,206,000& » 14| 261,206
WS SEA ALY X 1,036,700 1,077,100 A40,400
201 L Et2A | 20,300 20,700 2400
02 3224l 20,300 20,700 2400
O1 222=2 £ MA 20,300
DS XA (S E)

200,000& *20CH » 151 x90/100 3,600




2N HESLSH
M swE 4 N2

S HEZwsS MHlA HE(DSAILSSE 3 H) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
DASKH BEEZ(SE) 800,000& »20CH 16,000
DIASK SAMNL 23 (58
70,000 +50H »23] 700
307 21201 A 1,016,400 1,016,400 0
05 RIZt2IEt = 1,016,400 1,016,400 0
OQUSAXNSEAl ALY 2|
1,016,400,000& 14! 1,016,400
WSOHM oAl A (NSAMASLHIIA) 48,069 37,939 10,130
Hafle g NS 32,069 37,939 A5,870
201 LB-2E| 20,309 26,179 A5,870
01 A2 2218l 9,606 12,436 A 2,830
O1 Y24 5,000
PAMSERY NEEs 2 DEUN 222
Xl = 3,000,000& 14 3,000
foEx ¥ SEANSI LHIel 222
Xl = 2,000,000& 14! 2,000
O4 1=l 490
DALAENSI =2 490
ost= 110,000& 12! 110
os= 140,000& 12! 140
ousts 70,0002 *1¢! 70
OEF= 70,000& = 1@l 70
O H3t 50,0003 x1Q1+23] 100
O5 =&l 4,116
DRSNS ANEHS E2T S A
7,000 *721«7L » 128 4,116
02 =224l 10,703 13,743 A 3,040
O1 23232 % HMA 1,210
DASK SAMNLARLS(SE)
50,000 »1CH »23] 100
> Xt XA 400,000 = 1CH*13]*90/100 360
DASKH BEEZ(SE) 700,000 «1CH 700
DASI BA =+2(S5F) 50,0003 = 1CH 50
O4 Xtg. o ety| 9,493
DAEssH 5,500,000 = 1CH 5,500
> Xt &= X2 el 3,993,000 = 1CH 3,993
202 oddl 11,760 11,760 0
01 = LH o4 1l 11,760 11,760 0
OYelet Xt&d NEE= Kl
980,000& »12& 11,760
NESHEAY 29 16,000 0 16,000
301 LEtE A= 6,000 0 6,000




2N

dsusn

M swE 4 N2
¢el: NESod oAl 2GS (WSAIEEEFIAH) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
09 HALAHIEA S 6,000 6,000
OAMUWHA 2FFBAA HNE2H HELS
200,000& 309! 6,000
307 gl2tol & 10,000 10,000
04 DI2HHALALSE E X 10,000 10,000
NSHMEA NF AU X
10,000, 000& 14! 10,000
HH2IAZH(HESRSH) 121,567 121,567
ClHARAH(NEALSESIA) 77,031 77,031
QA 2d| 77,031 77,031
101 1A Hl 77,031 77,031
03 RIAHAZZRHE > 77,031 77,031
OIS AE(7T28I1&E) 64,669
>olE=s 1,339,620& 221 x12& 32,151
> a0tz 32,150,880% x4/ 12& 10,717
DAIZEQIZ 22 9,910 x201+35A 24+ 12& 8,325
e =] 79,6303 %x201+12& 1,912
> AX=E 38,410 %x20110 769
> EAZ A 130,000& 221 12 3,120
>uwsS 2 XH| 120,000& 201 x12& 2,880
> =20l 10,0003 #2210« 128 2,400
> X< IH&H 59,874,000% *4/100 2,395
o4 = 6,392
>DIADHASRES 62,274,000% *4.5/100 2,803
DHLEE= 62,274,000& x3.06/100 1,906
DEIISYLEER 1,906, 000& *6.55/100 125
PNESBES 62,274,000&*1.5/100 935
DMTHEE S 62,274,000&*1.0/100 623
onu=l 980
>ot= 110,000& 29! 220
D= 140,000& »20! 280
PEF= 70,000& »29! 140
> ¢tst 50,0003 201 %23 200
> eet=s 70,000 »2¢0I 140
SN RE= 4,990,000& =14 4,990
JI2BY(REASSHEIN) 44,536 44,536
=23 44,536 44,536
201 Yyt 2 Y| 31,236 31,236
01 At 22/l 25,884 25,884
1 2et=ZH| 21,180




AN HHEsnsSH
M HY2IZH (WSS
& J2dH(RNSAMESESIA) (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
PEMN2I+=EH 12,180, 0002 14! 12,180
DEAMI L ZEH ARS
600,000 »5CH *32] 9,000
O5 =&l 7,0003 1401 43|« 128 4,704
02 =224l 5,352 0 5,352
ORERS 5,352
>SISH 1,930& 200 128 4,632
PESSHE 300& 200 * 122 720
202 o4dl 9,000 0 9,000
01 = LH o4 1l 9,000 0 9,000
OJleg =80t 9,000,000 »14! 9,000
203 ¥ S =&l 3,000 0 3,000
04 EAS2IYRFLH| 3,000 0 3,000
ORN2EYRF=AHI 250,000& »12& 3,000
405 XHoHF S HI 1,300 0 1,300
01 AL EZFH S 1,300 0 1,300

OFPC 1,300,000 = 1CH 1,300




